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TIME AND WORK

".P, Qﬁ?ﬂqwaﬁﬂﬁﬂﬁm%,mP 11. P works thrice as fast as Q, whereas P and Q

3R Q T& A1y @y R & O T it | together can work four times as fast as R. If
T4 B FHd 81 afS P, Q 3R R TF A1Y P, Q and R together work on a job, in what
frdt vl W o1d Hed €, A I m T ratio should they share the earnings?

3T Y e SruTe F AT B AR UPSC PT 2017

UPSC PT 2017

%1:1 q) -cg- &_ \/z)/3:1:1

b) 3:2:4 3 ‘ \ b) 3:2:4
¢c) 4:3:4 ¢) 4:3:4

d) 3:1:4 \NP: v\}cy: W<\g:):) d) 3:1:4




TIME AND WORK

22. 6 AfgaNE 3R 6 et e faslt ard 22. 6 women and 6 men together can complete
&1 6 i1 # 1 = IFd g1 af 9 wfgang a piece of work in 6 days. In how many
APA 39 & B 10 fa=1 A ORT P gFHdl days can 15 men alone complete the piece
g, @ 15 et FA I FE &I fhaa of work, if 9 women alone can complete
feTi ¥ T HR g &2 the work in 10 days?

3wt 36M
// > w Bl
a) Gfaq ® a) 6 days é *6'1 GD
b) 7.2 S pw) b 7:2days

o sfe= c) 5days 7‘/\/—[0)

Zéw-(—géM._._ 0
d) d BIE ﬂﬁ :I 0 one of these |, __
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TIME AND WORK

23.8 %Y 3T 4 wfgamg ﬁ@?ﬁ'\’ fPftdrd®Ht6 23.8 men and 4 women together can complete

fe=T & 1 #R WHd 81 TP IPY gRI @ a piece of work in 6 days. Work done by a
f&= & férar a1 1d ve witen gr1 U &= man in one day is double the work done by

/5 ﬁmmmﬁﬁaﬁwél gfe 8 gey ‘;ﬁﬁ a woman in one day. If 8 men and 4 women
\ Qﬂﬁ-‘ﬁlﬁ BT BT IE B 3R 2 A a1, 4 started working and after 2 days, 4 men left
F
/

G E:B 4 3R 4 q’i‘ﬂﬂ'@l’lﬁ e gl and 4 new women joined, in how many
Gﬂﬁ, a o fea ﬁ’ﬁ s | O '6’! GITET? more days will the work be completed?

£
\7/5%“ W) ‘78"L \35 days (16 + 4)=>

b) 8RR | ooy b) 8days @ M +y ) LD
g Cad X TMtY

d afe&q Td\x d) 4 days %M#’@hf Q"Vg .










TIME AND WORK

24.A 3R B ﬁ‘ﬂﬁﬁﬂfﬁ 100 @ﬁmﬁm 24. A and B undertake to do a piece of work
mﬁﬁ?IAgﬁiﬂ'ﬁﬁﬁm%Gﬁ? for Rs. 100. A can do it in 5 days and B
B 5‘@]0 @Eﬁﬁa"!mq%l C 3t WeTadT can do it in 10 days. With the help of C,
| ﬁsﬁ 2 ﬁﬁfﬁ HHIW P %ajl C Fl they finish it in 2 days. How much C
S “"‘.‘3"" & forg fran qTdT feam should be paid for his contribution?
ST 918 e? WP\:WB;W—;-_)_:\:L /_\ T

C gl
2
\9/40'\5'@ W e 7 \/’/RSAO B . - I DD
b) 20 %7 & X199 b) Rs.20 Atr
o 60FTR S- ¢) Rs.60 (\'23

d) 99 A BI5 T8l = L1D d) None of these Y




TIME AND WORK

25.U® élTaT-ﬂ AR was%aﬁw a1y ﬁﬂz 25. A man and a boy received Rs. 800 as wages
¢ H1d & fog 5 3T & forg aeigdt & =u for 5 days for the work they did together.
¥ 800 U A | A A I AGH BT G&AT  The man's efficiency in the work was three

Hﬁﬁ?ﬁ?ﬂ‘l‘l !@I ag%aﬁ%ﬁﬁmgﬁ times that of the boy. What are the daily

fra-t 82 wages of the boy?
3 W, W = ¢

a) 76304 a 2 J a) Rs.76

b) 56 ¥Ud | b) Rs.56

) 44%0 W&:— - X o c) Rs.44

Jﬂom \V __d)-Rs. 40
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26. A, B 3R C A 1800 ¥UQ HI 1Y T4 TP
s g fFa A6 fRa, B 4T 3R C
7 9 37 @ foram afe S@1 A deT 5 -
6:4F 37U A B, A A I fa=n

g
CHECM
a) 800¥Ud
b g Y :
o XS o

ey

26. A, B and C completed a work costing Rs.

1800. A worked for 6 days, B for 4 days
and C for 9 days. If their daily wages are in
the ratio of 5: 6:4, then how much will be

received by A?
A | >0
a) Rs. 800 e —-—:@X o0

\_b)Fs. 600

¢) Rs.900 = (oo

> N KL d) Rs.750 =




TIME AND WORK

27. 3<rg et rd 31 12 @1 d I wPpar 21 27. Ajay can do a piece of work in 12 days.
Ierg IR fads T ¥ s Q31 o Ajay and Vivek completed the work

3R IF P 54 IUA AR _81 FUY &I together and were paid Rs. 54 and Rs. 81

YA far man 3% @ 9y e @10 respectively. How many days must they

& d fpa fea e gl have taken to complete the work together?

PR o ’
a) afes 4 ’ 3 : a) 4days WA’ WV ‘:' B
b) 45 b) 4.5 days Ay
) 4as8fed 1. \Sm:ays ; R .5

V ——

d) sﬂﬁ'&ﬁé?&?f % i d) None of these gf ,L Tl/

920
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TIME AND WORK

28.A,B 3R C @ 575 ¥U4 # U 1 A & 28. A, B and C are employed to do a piece of
ferg Fraifora fasar mar 81 A SR ¢ #1 B work for Rs. 575. A and C are supposed to

Pl 19/23 ‘fm TP I RT PIAT %' B P finish 19/23 of the work together.

ﬁﬁmﬂ‘fﬁﬁmm' Amount shall be paidto B is . g"
+— 1 : s

a) 210 39 A 2./:5 a) Rs.210 W \‘; /;-B’X

\onow& R N b)Y Rs. 100
c) 200 ¥9Y Az L c) Rs.200 = A,
d) 475%0d z3 d) Rs.475 - 3
oY
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TIME AND WORK

30. 24 U3Y 3R 12 wfgame fedt amfaﬁ,& 30. 24 men and 12 women can do a piece of
fai § % ud g1 12 T3 3R 24 ulRamn work in 30 days. In how many days can12

I HH @ fran A1 d o7 9ad 82 men and 24 women do the same piece\of
X2 M+ 12X oW UPSC PT 2022 work?
= 2 yM 42w =D UPSC PT 2022
a) 30 ﬁ? a) 30 days
b) 30 e & srftrs b) More than 30 days
¢) 30T suarsofRad fts ¢) Less than 30 days or more than 30 days
\d)/ﬁ{ it ey ReTaq & forg et \9/6ata is inadequate to draw any
roafe 8 conclusion

0% o g5 iy
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